Place Value Riddles Activity 2

Select the correct answer from a choice of 8 possibilities.

1) lam agreater than 52 tens.
| am less than half of 1200.

If you round me to the nearest 100, | become 500.

| am even.

Whoam I?
: 516 § 540 § 614 : 504 §
E,. -E.. _.......-.......-.':l.-\.-\.-\. man :| ...................... _EI
: 563 : 527 : 539 : 963 :

2) 1am not a multiple of 2.
If you round me to the nearest 100, then | will round down not up.
| am less than 10 lots of 40.
My ones digit is not a multiple of 3.

Who am I?
138 255 827 i 435
. 237 ;318 i 97 i 36l

MAKE UP 3 OR MORE OF YOUR OWN RIDDLES
TEST YOUR ANSWERS WORK ON YOUR PARENT OR SIBLING




